[ Efficiency vs vertpos |
~ 0.8

] S B S A—

.................................................

0.6

efficiency vs vert

T N S— A—
9 T
| iﬁ* ififnﬂiih ________ o

I L L

o RO ',,;';;'.',';',','.';;;44; }’i """""""

Ratio
=)
T

_,j_

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom
~N 1.2

X S Y T S S e

efficiency vs vert

YR S N

o »wt- ----- -

Y73 USROS 111 SO SO SO S

O....i....lt...

Ratio
S

1t : : :
-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.8

0.7

0.6

0.5

0.4

efficiency vs Sim. PV

0.3

0.2

0.3

Ratio
N

20-15-10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


